A CHANCE TO FLY (2)

1. Jim O'Neill thinks that in two or three years
India might be the ... BRIC economy.
a) largest
b) second largest
¢) third largest

2. In the past, he thought India ... the fifth largest
economy in the world by the end of this decade.
a) couldn't possibly become
b) was unlikely to be
¢) would probably succeed in being

3. What does he conclude from his talks with Indian policy-makers?
a) They are not being clear about the details.
b) They are definitely on the right course.
¢) They will not be able to implement what they want to do.

4. According to Jayshree Sengupta, who might be disappointed by the budget?
a) wow!
b) There's nothing to be excited about.
¢) It is not a threat to us.

5. What might be the consequences of this reaction? 1. | ...
a) Let's look for other parnters.
b) We really need to participate in India's growth. 2
¢) We're not going to invest in India tomorrow. R
3. | ...
a. | ...
5. | ...
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